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QUESTION 1

The proxy firewall works at the TCP/IP transport layer and processes services between users of the internal and
external networks,

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 2

The WRED drop profile defines the following parameters for AF21 traffic: the lower drop threshold is 35, the upper drop
threshold is 40, and the maximum drop probability is 50%. Which of the following statements regarding the processing
result of AF21 traffic are false? (Multiple Choice)

A. When the average length of packets in the queue is smaller than 35, packets are discarded.

B. When the average length of packets in the queue is larger than 35 and smaller than 40, the drop probability of packet
is 50%.

C. When the average length of packets in the queue is larger than 40, packets enter the queue.
D. When the average length of packets in the queue is larger than 40, packets are discarded.

Correct Answer: AC

QUESTION 3

Which of the following statements regarding VRRP is false?

A. The master in the VRRP group is selected based on priorities.

B. The master sends gratuitous ARP packets, and notifies the connected device or host of its virtual MAC address.
C. If the master fails, the new master is selected among backup devices based on priorities.

D. The priority ranges from 1 to 255. When the backup received VRRP Advertisement packets which the priority is 0,
the backup discards the packets.

Correct Answer: D

QUESTION 4
Which are the new requirements on the enterprise network stimulated by the mobility trend? (Multiple Choice)

A. Unified wired and wireless management
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B. Consistent service experience anytime, anywhere
C. Fast deployment of mobile applications
D. Strict hierarchical networking

Correct Answer: ABC

QUESTION 5

Which of the following statements regarding the DSCP priority is false?

A. The first 6 bits of the ToS field (leftmost 6 bits) mark different types of services, namely, DSCP priority.

B. The DSCP priority can be used to classify traffic into 32 types.

C. Each DSCP priority corresponds to a Behavior Aggregate (BA), and a PHB can be specified for each BA.
D. You can use some QoS mechanisms to implement PHB.

Correct Answer: B
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